

Book 4 page 52 (3) Let $ABCE$ be a Δ AD the bisector
 of angle at A & AD the perpendicular
 from B to CE then $\angle FAB = \angle FAD = \text{half diff}$
 of $\angle B$ & $\angle C$. At point A in AD draw
 a circle $\angle FAD = \angle FAE$ I (23)



$$\angle FAB = \angle FAE \text{ hyp } \angle$$

$$\angle FAD = \angle FAE \text{ Corollary } \angle FAC$$

$$\therefore \text{then angle } \angle ABC = \text{then } \angle$$

$$\angle B + \angle BAC = \text{int } \angle \quad \text{I } 32$$

$$\angle C + \angle CAD = \text{ " " } \quad \text{I } 32$$

$$\angle B + \angle BAC = \angle C + \angle CAD \text{ by I}$$

$$\text{Diff between } \angle B \text{ & } \angle C = \text{Diff } \angle BAC \text{ & } \angle CAD$$

$$\angle BAC = \angle CAD \text{ (since } \angle BAC = \angle CAD)$$

$$\angle FAD = \frac{1}{2} \text{ diff between } \angle B \text{ & } \angle C$$

$$\angle FAD = \frac{1}{2} \text{ diff between } \angle B \text{ & } \angle C$$

Prop 15 & 16 on old Book 4 may be

included in one enunciation

The rectangle under the sum & diff of 2 st lines

is equal to the diff of the sqs described

on those st lines

The rectangle contained by 2 st lines

is equal to the sq described on

half their sum, plus the sq

of the difference of the st lines

$$\text{V} \quad \overline{a} \quad \overline{b} \quad \overline{c} \quad \overline{d} \quad \overline{e} \quad \overline{f} \quad \overline{g} \quad \overline{h} \quad \overline{i} \quad \overline{j} \quad \overline{k} \quad \overline{l} \quad \overline{m} \quad \overline{n} \quad \overline{o} \quad \overline{p} \quad \overline{q} \quad \overline{r} \quad \overline{s} \quad \overline{t} \quad \overline{u} \quad \overline{v} \quad \overline{w} \quad \overline{x} \quad \overline{y} \quad \overline{z}$$

$$a \quad b \quad c \quad d \quad e \quad f \quad g \quad h \quad i \quad j \quad k \quad l \quad m \quad n \quad o \quad p \quad q \quad r \quad s \quad t \quad u \quad v \quad w \quad x \quad y \quad z$$

$$AD \cdot EC + EB^2 = CB^2 - CD^2$$

$$AD \cdot DB = CB^2 - CD^2$$

$$(AC + CD)(AC - CD) = AC^2 - CD^2$$

$$AC \cdot CB + DB^2 = EC^2$$

$$AC \cdot CD = EC^2 - DB^2$$

$$(EC + AD)(EC - AD) = EC^2 - AD^2$$